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EE 3120 — Prerequisite Test Example Problems — Answers
Zn=15290°Q, Vi =52£-175°V
[,=0.8£-85°A
V =3.78£-4528°V
a) S=11.29 £39.86° kVA, b) [=56.45 £-39.86° A
a) 8.25 Z-15° A, b)747.7W, c)348.7 VAR, d) inductive
Vs=173.16 £29.01° V
[=1.26£-4528° A
9.72/43.96° kVA
e) 500£-45° VA, 1) 353.55W, g)353.55 VAR, h) capacitive
232 /£2.89° A
i) 441.94 W i) -765.47 VAR, iii) 883.88£-60° VA
R=10.39Q, X=6Q, inductive
1) 8£-45° A, 1i) 960£45° VA, 1iv) 0.707 lagging
Zin=T7445°Q, Vu=56£70°V
V,=124.312£41.66° V

S =400/25° VA as a load



